
cfly{s ljsf;

of]hgf ÷ sfo{qmd

qm=;+= cfof]hgf tyf sfo{qmdx? :yfg  /sd पेश्की भुत्तfनी ;Demf}tf

1 kmnkm'ntyf hl8a'8L laplahg vl/t j8f =g+=^ 200,000

2 kfDsf 6f]8\sf ;8s lgdf{0f j8f=g+= ^ 1000000

3 n;"g v]lt Aof;fo cg'bfg sfo{qmd j8f =g+=! 400000

4 cn}lrb]lt lj:tf/ tyf tflns j8f=g+=! 100000

5 tfn ;+/If0f bx j8f=g+=! 300000

6 hl8a'l8 v]lt lj:tf/ cgbfg sfo{qmd j8f=g+=! 100000

7 dflnsf ko{6s df 5fqfaf; ejfg j8f=g+=$ 500000

8 hfq tyf df}ZAAf vr{ j8f=g+=$ 200000

9 j8f g+= # df cu'jf s[ifs x?nfO{ tflnd j8f=g+= # 500000

10 cNnf] wfuf] k|;f]wfg tyf sk8f a'gfO{ tflnd j8f=g+=# 200000

11 :jf:Yo rf}sL d6]nf /+u/f]ug j8f=g+=# 200000

12 d6]nf # g+= cfocfh{g d'ns dlxnfnfO{ tflnd j8f=g+=# 200000

13 d6]nf #g= ckfË cfo{cfh{g tflnd j8f=g+=# 100000

14 s[lif ;]jf s]Gb| -ljpljhg_ vl/b j8f=g+ % 100000

15 ?K;] eo/ dlGb/ lgdf{0f j8f=g+ % 100000

30 7'nf;fO{gf n;'g v]tLs]f nflu l;+rfO{ kf]v/L  j8f=g+ @ 100000

4500000


